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419 [ AX V)V N~V —T F )L
420 [ AZVVNVEEATF IV 5,163 791 35 5,988
421 [4A—AFVF o AF®H —2—F
422 [TV B/ 138 138
423 AFALTI 0.003 0.003 0.005
424 | ZFN=AIVFFH T F—h
425 AV TaWNT
426 | INKRTT
427 [FUL 145 956 1,101
428 [T )T HINT 508 778 1,286
429 [/~\pRLTay ATV 351 351
430 AVRF¥HINT
431 |7/ ¥ APaE Y 2,491 2,491
432 [7INTX 60 60
433 [ 1—/3 4 350 350
434 [A¥HYIV 3.2 3.2
435 [EUS /Ry AF )L 27 27
436 | TNT 7 —AFNAF L
437 |3—AFNF AT —)L
438 [ AFNFTHLL 55 76 2.1 0.62 134
439 [3—AFAEVTL
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MAREZR2T PEHIERI - R G BRI O Pk H e b R CTARBOMEJE - KR (1. PR EEFR 2 Lo 9 DO 92 Y)0) LT~ 23, 2 S BEREYIE It 25 |

XIGAL T E AEMPEH G (kg/ 4, X AA XLV HHidme-TEQ/4F)
it %% 2 3 4 5 6 7 3 9 10 11 12 13 14 15 16 17 18 19 20 21 ﬁi)%ﬁ Eﬁ%ﬁ
o WA HERAD w | ey | (VR AL A | LR oo B AR . Bt Wi | AV | A% | A | A, ik a3

e %;ﬁ?g‘&): IR Bl | BEA | @R #l S e vou | m [EETE - H I e R S R . B L1 % WL_L;EE W;g&iﬂﬁﬁ

1—AF ) —1—Txz=)L=F )L =bRa~
M0 T 0.029 0.052 0.080
441 2— (1 —AFLTEEN) —4, 6—V=Fr

Jx/)—)v
442 A7 m=)v
443 [ AIIL 279 279
444 N7 EF L APIEY 22 22
445 [ JLIRTIAF L 100 100
446 |4, 4’ —AFLL T =D
pa7 ATVVER@, T-vraaFiLy) =Y

AT F—b
448 772”:]\‘“(4' 1=Z=2b) =UAYy 166 0.49 166
449 [T ATAT 7
150 EVTFHNT 348 348
451 [2—ARFY—5—AF LT =V
452 [2— ANAT IR F T — ) 5.8 5.8
453 BT T ROZEDLEY 18 1,245 5.0 1,269
454 [2— (CENIRY ) OFA) NS FT =)L 0.78 0.78
455 |/ 66 2,382 2,448
456 VAT L= 4 110 110
457 [T LRA 2,966 2,966
458 [DAMBERIA (2 —=F L~FT L)
459 WARENA(2— Zanx L) 13 13
460 [V ABERI RV 8.5 8.5
461 [VABEN) 7 x=)L 50 48 99
462 WABEN— )V~ N— T F )V

& H 2,531,856] 96,817 15,882 52,222] 1,999,514 1,509 821,792] 487,929] 40,973 64,213] 1,837,450 126,340 253,136] 60,964 593| 14,546 5,417| 517,025 1,630 703,398 13,866  5,139] 9,650,582
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